X

=3

Nfo

ojn

ay

"

Hy

5

i

fife)

alo

o

ol

g

~a

—_

N

o
®

. Lo~
N © 9|
Il Il &o
R
+ !
5 8«
N N
T ©
Wo T
o |
A i
B! 8

® Ox4-Ox3 ® Ox3+0Ox4

O Ox3-Ox4

® Ox3+Ox3

@ Ox4+Ox3






oltt. kt 9

shelat.

&7

t

=
+
=

)




® {(z, y)|2z —y =330 HE F}



ey —
I =)
u_.a o~ |
qu =
o Il
<l >
" o> R
oo
= T L
Bl oy =
< o
o S
q{



Hu
oju

3x+2y="7

r=2y—3



(I, m) ol & o, 1+ m 9] gh=

=
=

o

=4 9]

AFYAA 3x+5y+2 =2(z+v)

stofzt.

?_



oju
~

S

2c+y=>






10.

axr — 2by = 2
2ax + by = 24

o] 7t (4, 2) € W, a?b 9] FH2?

® — @ — ® 25



4o = 3y+11 & THEAZ



3r+4y+1=—y+5c+10=—z+ 2y —5 o h= F3}toizt,



Algoldl staol A Al e]E dof

AEolu] w4 ol AF A4z et AF
EAE AP 918 4 719 A o]

o S delsto] E 5 o4y o 7ol
2 AN £AE Aok e BT AT £48 tdstie
[a 1]
H7]
04z + 1.1y = 0.3
A= x 2 7
27575
{O.Qx +0.1y = 0.3
SRS 31
YT
0.2z — 0.3y = 1.2
EC IR TINE
PR L
3,2 s
Syt ly=
Aot { 5 3
0.3(x+y)—0.1x=1.9




14. o % 87k 2 70 o4l AgAe?

5 4+ 2y =11 r+y=2

OR A @
——r—-y=3 =
23: 5y 3z 43y =4
0.2z +03y =04 r=y+3

N LI R P
6" 1Y 73 Toy=
3r—y=-1

9r — 3y =3



[ap]

I

=

<t

|

8

=) Ne)
T
L3
S

N L1_
+ g
Q5 8 AN
o S———
R
O
=N

+ ¥ o+ o+
8 8 8
a8 N AN
—_—

®x-2y=22—-y=3



